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Number — Operations

GETTING FROM HERE TO THERE!

Roger Roadsworthy is a man on a mission! He has entered the
Getting from Here to There! competition to see who can travel to
different places on the most forms of transport over two

weeks. Roger thinks he has a good chance of winning. The

prize is a trip for two to a mystery destination, with one week's
accommeodation, all expenses paid!

travels on his mussion to win the prnize! Solve the problems along the

vay. | Isa mental ar wriften methods

First, Roger flew in a helicopter. The pilot made stops at

a waterfall after 75 km, a cliff after a further 48 km and
finally a desert after another 52 km so Roger could take
photographs. How many kilometres did they fly altogether?

TS

2 | In the desert, Roger took a came|
ride across the sand dunes and
back. The trip was 979 m. After
travelling for 855 m he stopped to
look at the view. How much further
did he still have to travel?

Roger's next trip was in a

yacht. He sailed from the d
harbour to a tiny island 2=
255 m away. He sailed around the
island for another 273 m.Then he
sailed back to the harbour, which

was the same distance as it was to
the island. How many metres did

he sail in total?

MNearby was a jet ski hire
company. Roger hired a jet ski
and revved it around a circuit
that was 220 metres long. He
did this four times.

How many metres did Roger
travel on the jet ski altogether?

E-'_J Roger's next trip was on a plane to Bali. He watched two films
for 190 minutes in total, slept for 45 minutes and read a book
on his e-reader for 36 minutes, before landing.

How many minutes did the flight take?
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i_i) In Bali, Roger pedalled around in a rickshaw.

He was taken 284 metres to a temple, 692 metres
further on to a market, and then walked all the way
back to his hotel. How far did he travel by rickshaw?

8 | His next journey was in a

hot-air balloon, where it
drifted for 844 m before
landing. A light fog
surrounded the balloon for the
first 274 m._The rest was clear
Sk'lp'. For how many metras was
there a clear sky?

8 | A chairlift took Roger 380 m
to the top of the ski slopes. He
skied down a gentle slope for
450 m. How many metres did
he travel over or on snow?

19) Roger’s next trip was in a side-car

on a motorbike. They travelled
138 km on flat, straight roads
and 70 km on steep,

winding roads.

How many

kilometres did they

travel altogether?

o

0 His next trip was on a golf
buggy. The 18-hole course
was 599 m long. After four
holes, Roger had covered
120 m. How many more
metres were there to the end
of the 18th hole?
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12 | Finally, Roger caught a
" bus 150 m up one street,

278 m along another and
374 m along a third to
the competition office.
Here he dropped off
his photographs and
documents to prove
his transport choices
and travels. How many
metres did the bus travel
in total?

AUDITIONAL ACTIVITY

® Make up another form of
transport Roger could have
used. Write an addition or
subtraction word problem
about it and give itto a
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Answers

GETTING FROM
HERE TO THERE!

1 175 km
2 124 m
3 783m
4 880m
2 271 minutes
B 976 m
& 990 km
8 570m
8 B30m
10 208 km
M 4/9m
12 B02m
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